INSIDE
.76

[19.2]
INSIDE

=
&

122 ]
[30.9]

NOTES:

LOCATION
|lD|l

LOCATION
=

LOCATION
nAv

PIGTAIL:

WIRE: #12 AWG SOLID, 8-1/2" LONG, GREEN TW
INSULATED, U.L. LISTED, 600 VOLT MAX,
STRIPPED 1" IN FROM EACH END;

#10-32 X 3/8" GROUND SCREW W/COMBO HEX
WASHER HEAD (SLOTTED, #2 PHILLIPS AND
ROBERTSON)

(#8-32 x 1/2 TRI LOBE SCREW
BRACKET

1. ALL DIMENSIONS ARE IN INCHES AND [MILLIMETERS]
. VOLUME: 30.3 IN®[496.5 CM?]

2
3. UL LISTED
4. FORINSTRUCTION SHEET SCROLL DOWN TO NEXT SHEET

75
[19] —
INSIDE

REVISIONS
REV.| DATE DESCRIPTION BY
- |[11-08-23| INITIAL RELEASE |RMV

STAB-IT CLAMP

SIDE

SPACER

SIDE

(#8-32 x 1/2 TRI LOBE SCREW

CABLE
MANAGEMENT

1.25

[31.8] |

BRACKET

PIG TAIL

COPPER

SEE DRAWING

CABLE MANAGEMENT

STEEL

GALVANIZED

STAB-IT CLAMP

STEEL

GALVANIZED

STUD BRACKET

STEEL

GALVANIZED

. "ON 3114

SNO NOSO¢CEd

FASTENERS

STEEL

GALVANIZED

SIDE

STEEL

GALVANIZED

SPACER

STEEL

GALVANIZED

DESCRIPTION

MATERIAL

FINISH

LIST OF PARTS

THE DESIGN AND DIMENSIONS OF THE
PRODUCT SHOWN ON THIS DRAWING ARE
SUBJECT TO CHANGE WITHOUT NOTICE

Tl

KNOCKOUTS

TRADE SIZE

LOCATION

QTY.

4" SQ BOX W/ FARSIDE SUPPORT,
STUD BRACKETS, & STAB-IT™ CLAMP

(1/2"-3/4") TKO®

B,C,D,E

1/2" KO

B,C,D

1/2" KO

E

PRI-OUT

A

N2 N|—=

TOLERANCE UNLESS
OTHERWISE SPECIFIED

 __ 4
RACO
[N

INDSOZEC

‘ON "1V ¥Od 13IHS NOISNIWIA

XX DECIMAL *.015

DRAWN BY:

RMV

SCALE:

XXX DECIMAL +.005
ANGLE *2°

APP. BY:

N.S.

DATE:

11-08-23 1:2

SIZE:

11in*17in




Ua/00e1/WOD||8GANYMMM / |SLLYEZ 7/S 181 / 6199% NI ‘Pug Yinos « 18a.1S ajdwes M Z06S SLSLO-N3-WOI-00Vd-d3
80110 JNOYLIM BBUBYD 0] 198[gNS SUOIEDI08dS "PaAIssal SIYBL ||y 'Pa1eiodiodu] [[8AgNnH JO UOISIAIP e '0dey $20Z (3) 0 'A3d £9800% N/d

(pepn|oul Jou) (papn|oul 30U) SMaJ2s (Z) Yim 31 yoene MO[SQ UMOYS Se aoeiq
Bul pnw [|eisu| pue aoe|d ojul sdeus 3 [13un 31 ysnd uo 38¥oeIq 14asu|
¢ d3ls ¢ d31s L d31S

(90206# 30VYE HLIM ATNO d3sSN 39 OL) ONILNNOW 3D0Vvdd

(papn|oul Jou) (Papn|oul J0U) SMaJDs (Z) YIM 11 yoeiie MO[2Q UMOUS sk
sBULI pnuwl ||eisu| pue aoe|d 0jul sdeus 31 [13Un 31 ysnd pN3s J8A0 X0q aoe|d
¢ d31S ¢ d3l1s L 4d31S

ONILNNOW dN.ls 34Als A9 3AIS

(papn|oul Jou) (papn|oul Jou) smaJtos (Z) Yim 3 yoepe umoys se a|bue ue
BULI PN ||[eisu| pue aoe|d 0jul sdeus 3 [13Un 31 ysnd 18 PN1S JOAO XOq d2e|d
¢ d31S ¢ d31S L 4d31S

ONILNNOW dnls

13IMOVIE8 uOu HLIM
S3IX0d JAVNOS .9L/LL- ¥ B uP

133HS NOILODNAULSNI

A — -
1\ oDV





